
Contact your authorized Parker Fleet Distributor 
for ordering, catalogs and further information or 
visit www.parker.com for detailed information.

Part numbers shown are for steel. Other material options available. Go to www.parker.com for details. 
Dimensions and pressures are for reference only and are subject to change.

F63

A
d
ap

te
rs

: 
E

O
 a

nd
 E

O
-2

 M
et

ric
 B

ite
 T

yp
e 

Fi
tt

in
gs

For EO-2 part number, insert “Z” 
between size and pressure series. 
Example: VEE06ZLRCF

VEE-M
Adjustable Locknut 45° Elbow
24° Flareless / Metric ORR

For EO-2 part number, insert “Z” 
between size and pressure series. 
Example: VEE06ZLMCF

2

1

VEE-R
Adjustable Locknut 45° Elbow
24° Flareless / BSPP ORR

2

1 WSV
Bulkhead Union Elbow
24° Flareless / 24° Flareless

For EO-2 part number, insert “Z” 
between size and pressure series.  
Example: WSV06ZLCF

1

2

W
Elbow Union
24° Flareless / 24° Flareless

* Extruded body for steel and brass.
For EO-2 part number, insert “Z” 
between size and pressure series. 
Example: W04ZLLCF

2

1

Part 
Number

End Size
1 

(mm)
2 

Metric
L Series

VEE06LMCF 6 M10 x 1
VEE08LMCF 8 M12 x 1.5
VEE10LMCF 10 M14 x 1.5
VEE12LMCF 12 M16 x 1.5
VEE15LMCF 15 M18 x 1.5
VEE18LMCF 18 M22 x 1.5
VEE22LM27X2CF 22 M27 x 2
VEE28LMCF 28 M33 x 2
VEE35LMCF 35 M42 x 2
VEE42LMCF 42 M48 x 2

S Series
VEE06SMCF 6 M12 x 1.5
VEE08SMCF 8 M14 x 1.5
VEE10SMCF 10 M16 x 1.5
VEE12SMCF 12 M18 x 1.5
VEE16SMCF 16 M22 x 1.5
VEE20SMCF 20 M27 x 2
VEE25SMCF 25 M33 x 2
VEE30SMCF 30 M42 x 2
VEE38SMCF 38 M48 x 2

Part 
Number

End Size
1 

(mm)
2 

BSPP
L Series

VEE06LRCF 6 G 1/8A
VEE08LRCF 8 G 1/4A
VEE10LRCF 10 G 1/4A
VEE12LRCF 12 G 3/8A
VEE15LRCF 15 G 1/2A
VEE18LRCF 18 G 1/2A
VEE22LRCF 22 G 3/4A
VEE28LRCF 28 G 1A
VEE35LRCF 35 G 1 1/4A
VEE42LRCF 42 G 1 1/2A

S Series
VEE06SRCF 6 G 1/4A
VEE08SRCF 8 G 1/4A
VEE10SRCF 10 G 3/8A
VEE12SRCF 12 G 3/8A
VEE16SRCF 16 G 1/2A
VEE20SRCF 20 G 3/4A
VEE25SRCF 25 G 1A
VEE30SRCF 30 G 1 1/4A
VEE38SRCF 38 G 1 1/2A

Part 
Number

End Size
1 & 2 
(mm)

M 
Metric

L Series
WSV06LCF 6 M12 x 1.5
WSV08LCF 8 M14 x 1.5
WSV10LCF 10 M16 x 1.5
WSV12LCF 12 M18 x 1.5
WSV15LCF 15 M22 x 1.5
WSV18LCF 18 M26 x 1.5
WSV22LCF 22 M30 x  2
WSV28LCF 28 M36 x 2
WSV35LCF 35 M45 x 2
WSV42LCF 42 M52 x 2

S Series
WSV06SCF 6 M14 x 1.5
WSV08SCF 8 M16 x 1.5
WSV10SCF 10 M18 x 1.5
WSV12SCF 12 M20 x 1.5
WSV14SCF 14 M22 x 1.5
WSV16SCF 16 M24 x 1.5
WSV20SCF 20 M30 x 2
WSV25SCF 25 M36 x 2
WSV30SCF 30 M42 x 2
WSV38SCF 38 M52 x 2

Part 
Number

End Size
1 & 2 
(mm)

LL Series
* W04LLCF 4
* W06LLCF 6
* W08LLCF 8
* W10LLCF 10
* W12LLCF 12

L Series
* W06LCF 6
* W08LCF 8
* W10LCF 10
* W12LCF 12
  W15LCF 15
  W18LCF 18
  W22LCF 22
  W28LCF 28
  W35LCF 35
  W42LCF 42

S Series
* W06SCF 6
* W08SCF 8
* W10SCF 10
* W12SCF 12
  W14SCF 14
  W16SCF 16
  W20SCF 20
  W25SCF 25
  W30SCF 30
  W38SCF 38

Link to Section Table of ContentsLink to Master Table of Contents

http://www.parker.com/portal/site/PARKER/menuitem.de7b26ee6a659c147cf26710237ad1ca/?vgnextoid=fcc9b5bbec622110VgnVCM10000032a71dacRCRD&vgnextfmt=EN&vgnextdiv=687614&vgnextcatid=2354816&vgnextcat=VEE-R%20STEEL
http://www.parker.com/portal/site/PARKER/menuitem.de7b26ee6a659c147cf26710237ad1ca/?vgnextoid=fcc9b5bbec622110VgnVCM10000032a71dacRCRD&vgnextfmt=EN&vgnextdiv=687614&vgnextcatid=2354815&vgnextcat=VEE-M%20STEEL
http://www.parker.com/portal/site/PARKER/menuitem.de7b26ee6a659c147cf26710237ad1ca/?vgnextoid=fcc9b5bbec622110VgnVCM10000032a71dacRCRD&vgnextfmt=EN&vgnextdiv=687614&vgnextcatid=2348630&vgnextcat=W%20UNION%20ELBOW%20STEEL
http://www.parker.com/portal/site/PARKER/menuitem.de7b26ee6a659c147cf26710237ad1ca/?vgnextoid=fcc9b5bbec622110VgnVCM10000032a71dacRCRD&vgnextfmt=EN&vgnextdiv=687614&vgnextcatid=2348635&vgnextcat=WSV%20BULKHEAD%20ELBOW%20STEEL
http://www.parker.com/Literature/Fluid%20Connectors%20Group/Fluid%20Connectors%20Group%20Static%20Files/0-FleetIntroduction.pdf

